
Page 113

for Ripac EASY 
Integral holes for mounting handles. 
Material:
Extruded aluminium section
Surface finish:
Anodised

To fit all subracks and component shelves 
For fitting on the subrack flange with handle holes 
and on all component shelves.
Material:
Die-cast zinc
Surface finish:
Spray-finished, silver-grey
Supply includes:
Assembly parts.

Subracks
3 U and 4 U 2 3636.010
Component shelves
Subracks 
6 U and 7 U 2 3666.010

To fit all Ripac Vario, Ripac Vario EMC, 
Ripac Compact and Ripac Vario Mobil subracks. 
Ensures 84 HP fit at the rear of the subrack.
With integral channel to accommodate 
EMC gaskets. 
Material:
Extruded aluminium section
Surface finish:
Clear-chromated

Accessories:
EMC gaskets, vertical.

2

2.
5

20

5

U
Model No. RP 

Packs of 1 Packs of 2
2 3684.633 –
3 3684.634 3685.276
4 3684.635 –
6 3684.636 3685.277
7 3684.637 –
9 3684.638 –

10 3684.639 –
11 3684.640 –

Custom versions available upon request.

Accessories:
Handles for subracks. 

U Packs of Model No. RP 
3 2 3634.745
6 2 3634.750

Custom versions available upon request.

U Packs of Model No. RP 

23.2

2220

2.5

2.
5 3

Custom lengths available upon request.
To accommodate guide rails and for the attach-
ment of front panels. 
● Pre-assembled screws M4 x 12 for fast 

mounting on the subrack side panel
● Front projection 2.5 mm corresponding to 

IEC 60 297-3 
● Optional double screw-fastening ensures a high 

level of stability
● HP pitch pattern of holes for the precise instal-

lation of guide rails
● 1 x M4 thread on end face
● Straight-through core hole for optional second 

screw-fastening
Material:
Extruded aluminium section
Surface finish:
Corrosion-resistant 
Supply includes:
2 horizontal rails with pre-assembled threaded 
inserts and screws M4 x 12. 

Accessories:
Assembly screws M4 x 12,
Model No. RP 3634.430 (packs of 100).
Note:
Additional assembly screws are required for 
double screw-fastening, Model No. RP 3634.430 
(packs of 100). 

Usable width (HP) Packs of Model No. RP 
84 2 3634.600

To accommodate guide rails and for direct mount-
ing of backplanes. 
● Pre-assembled screws M4 x 12 for fast 

mounting on the subrack side panel 
● The mounting of insulating strips is not neces-

sary, thanks to the integral contact surface 
● Tapped holes M2.5 on a 1 HP pitch pattern 

for mounting backplanes
● HP pitch pattern of holes for the precise 

installation of guide rails
● Optional double screw-fastening ensures 

a high level of stability
● 1 x M4 thread on end face
● Straight-through core hole for optional second 

screw-fastening 
● The height of the extrusion allows top-mounting 

with cover plates
Material:
Extruded aluminium section
Surface finish:
Corrosion-resistant 
Supply includes:
1 horizontal rail with pre-assembled crews 
M4 x 12.

Note:
Additional assembly screws are required for 
double screw-fastening, Model No. RP 3634.430 
(packs of 100.). 

6 8.
3

1.
21

8.
3

3.5 20 12.75

M
4 x 121

Core hole M4 1 

Usable width (HP) Packs of Model No. RP 
84 2 3634.615

Custom lengths available upon request.

12.752.5 3.520

M
4 x 12

1.
2 1

8.
3

61.
3

10

1

Core hole M4 1 

Subracks,
individual components

Horizontal rails

Front horizontal rail,
double screw-fastening (A2)

Rear horizontal rail
for backplane mounting,
double screw-fastening (C4)



Page 114

Custom lengths available upon request.To accommodate guide rails, integral Z rail for 
mounting connectors.
● Pre-assembled screws M4 x 12 for fast 

mounting on the subrack side panel
● HP pitch pattern of holes for the precise 

installation of guide rails
● Optional double screw-fastening ensures 

a high level of stability
● 1 x M4 thread on end face 
● Straight-through core hole for optional second 

screw-fastening 
● The height of the extrusion allows top-mounting 

with cover plates
Material:
Extruded aluminium section
Surface finish:
Corrosion-resistant 
Supply includes:
2 horizontal rail with pre-assembled screws 
M4 x 12.

Accessories:
Threaded inserts, 
Model No. RP 9901.816 (packs of 1).

Note:
Additional assembly screws are required for 
double screw-fastening, Model No. RP 3634.430 
(packs of 100). 

5.
6

1.
21

8.
3

10

12.75

20

0.
4

3.5

3.5

2.3

1.2
M4 x

 12

1

Core hole M4 1

Usable width (HP) Packs of Model No. RP 
84 2 3634.620

When using 6 U PCBs or box-type plug-in units. 
Integral Z rail for mounting connectors to 
IEC 60 603-2.
● 84 tapped holes M2.5
● M4 thread on end face
● Straight-through core hole 
Material:
Extruded aluminium section
Surface finish:
Corrosion-resistant 
Supply includes:
1 horizontal rail, 
2 assembly screws. 

1

2.1

11.3

9.6

4

43
.3

5 3.
5

15

8

48
.2

6.
3

Usable width (HP) Packs of Model No. RP 
84 1 3634.085

Custom lengths available upon request.

Subracks,
Individual components

Horizontal rails for Ripac EASY

Rear horizontal rail, 
with integral Z-rail,
double screw-fastening (C5)

Rear horizontal rail, centre,
with integral Z-rail (D2)



Page 115

Custom lengths available upon request.To accommodate guide rails, integral Z rail for 
mounting connectors.
● Pre-assembled screws M4 x 12 for fast 

mounting on the subrack side panel
● HP pitch pattern of holes for the precise 

installation of guide rails
● Optional double screw-fastening ensures 

a high level of stability
● 1 x M4 thread on end face 
● Straight-through core hole for optional second 

screw-fastening 
● The height of the extrusion allows top-mounting 

with cover plates
Material:
Extruded aluminium section
Surface finish:
Corrosion-resistant 
Supply includes:
2 horizontal rail with pre-assembled screws 
M4 x 12.

Accessories:
Threaded inserts, 
Model No. RP 9901.816 (packs of 1).

Note:
Additional assembly screws are required for 
double screw-fastening, Model No. RP 3634.430 
(packs of 100). 

5.
6

1.
21

8.
3

10

12.75

20

0.
4

3.5

3.5

2.3

1.2

M4 x
 12

1

Core hole M4 1

Usable width (HP) Packs of Model No. RP 
84 2 3634.620

When using 6 U PCBs or box-type plug-in units. 
Integral Z rail for mounting connectors to 
IEC 60 603-2.
● 84 tapped holes M2.5
● M4 thread on end face
● Straight-through core hole 
Material:
Extruded aluminium section
Surface finish:
Corrosion-resistant 
Supply includes:
1 horizontal rail, 
2 assembly screws. 

1

2.1

11.3

9.6

4

43
.3

5 3.
5

15

8

48
.2

6.
3

Usable width (HP) Packs of Model No. RP 
84 1 3634.085

Custom lengths available upon request.

When using 6U PCBs or box-type plug-in units. 
For mounting backplanes. 
• 84 tapped holes M2.5

M4 thread on end face
Straight-through core hole
The mounting of insulating strips is not 
necessary, thanks to the integral contact 
surface 

Material:
Extruded aluminium section
Surface finish:
Corrosion-resistant 
Supply includes:
1 horizontal rail, 
2 assembly screws. 

•
•
•

21
.3

10
.8

5

11.5

7.75

Usable width (HP) Packs of Model No. RP 
84 1 3634.045

For the attachment of rear front panels.
● Optional double screw-fastening ensures 

a high level of stability 
● With screw channel for roof plate attachment
● 1 x M4 thread on end face
● Straight-through core hole for optional second 

screw-fastening 
● Pre-assembled screws M4x12 for fast mount-

ing on the subrack side panel 
Material:
Extruded aluminium section
Surface finish:
Corrosion-resistant 
Supply includes:
2 horizontal rails with pre-assembled threaded 
inserts and screws.

Accessories:
Assembly screws M4 x 12,
Model No. RP 3634.430 (packs of 100). 
Note:
Additional assembly screws are required 
for double screw-fastening, 
Model No. RP 3634.430 (packs of 100). 

9

12.7510.5

4.23.5

20

6M3

1.
21

8.
3

M
4 x 121

Core hole M41

Usable width (HP) Packs of Model No. RP 
84 1 3634.510

With M2.5 threaded holes on an HP pitch pattern. 
● For sliding into the front horizontal rails (A2) and 

rear horizontal rails (D4, C5) 
● Size: 5 x 2 mm
Material:
Sheet steel, zinc-plated 

Usable width (HP) Packs of Model No. RP 
84 1 9901.816

Custom lengths available upon request.

Custom lengths available upon request.

Custom lengths available upon request.

Subracks,
individual components

Horizontal rails for Ripac EASY

Rear horizontal rail, centre (D3)
for backplane mounting

Rear horizontal rail,
for rear panel mounting

Threaded inserts
for Ripac EASY



Page 119

for type IV, IVs and VII injector/extractor handle 
To accommodate guide rails and for the attach-
ment of front panels. The double screw-fastening 
ensures a high level of stability even under 
extreme loads. 
● Load test to DIN EN/IEC 61 587-1, 

requirement level SL1 
● Shock and vibration tests undertaken as per 

IEC 61 373 (DIN EN 50 155), Category 1, 
Class B 

● Front projection and pitch pattern of holes 
based on IEC 60 297-3-101, for the use of 
injector/extractor handles type IV and VII 

● HP pitch pattern of holes for the precise 
installation of guide rails

● M4 thread on end face
● Straight-through core hole
Material:
Extruded aluminium section
Surface finish:
Clear-chromated 

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300.

Accessories:
Threaded inserts, Model No. RP 3684.610 
(packs of 1).

36

2.3

4

12.75 20

6.
6

610
.5

Usable width (HP) Packs of Model No. RP 
84 1 9908.722

Custom lengths available upon request.

To accommodate guide rails and for the attach-
ment of Z rails, insulating strips or conductive 
strips and backplanes.
● Tapped holes M2.5 on a 1 HP pitch pattern
● HP pitch pattern of holes for the precise 

installation of guide rails
● M2.5 thread for the installation of Z rails 

or backplanes
● M4 thread on end face
● Straight-through core hole
● Horizontal rail 192 HP without machining on 

the end faces. Suitable for cutting to length
Material:
Extruded aluminium section
Surface finish:
Clear-chromated or anodised 

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300. 

5.4

6

9

6

11.75

23.5

8

Usable width (HP) Packs of Model No. RP 
21 1 3685.991
40 1 3684.962
42 1 3684.570
63 1 3684.571
84 1 3684.572
84 2 3685.2681)

192 1 3688.0022)

1) Including 4 assembly screws
2) Anodised

Custom lengths available upon request.

To accommodate guide rails and for the attach-
ment of Z rails, insulating strips or conductive 
strips and backplanes. The double screw-fasten-
ing ensures a high level of stability even under 
extreme loads. 
● Load test to DIN EN/IEC 61 587-1, 

requirement level SL1 
● Shock and vibration tests undertaken as per 

IEC 61 373 (DIN EN 60,155), Category 1, 
Class B 

● Tapped holes M2.5 on an HP pitch pattern 
● HP pitch pattern of holes for the precise 

installation of guide rails 
● M2.5 thread for the installation of Z rails 

or backplanes 
● M4 thread on end face 
● Straight-through core hole 
Material:
Extruded aluminium section
Surface finish:
Clear-chromated or anodised 

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300. 

Accessories:
Threaded inserts, Model No. RP 9901.816 
(packs of 2).

35

2.3

3

11.75 20

5.
6

6

9

Usable width (HP) Packs of Model No. RP
84 1 9908.723

To accommodate guide rails. Integral Z rail 
for mounting connectors to IEC 60 603-2. 
● HP pitch pattern of holes for the precise 

installation of guide rails 
● 84 tapped holes M2.5 for connector mounting
● M4 thread on end face
● Straight-through core hole
Material:
Extruded aluminium section
Surface finish:
Clear-chromated 

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300, 

28

20
212.8

10.6

11
9

2.1

3.
5

12.211.8

22
.4

6.
3

Usable width (HP) Packs of Model No. RP 
42 1 3686.191
63 1 3686.919
84 1 3686.159

Custom lengths available upon request.

Custom lengths available upon request.

Subracks,
individual components

Horizontal rails

Rear horizontal rail, with
double screw-fastening (C6)

Rear horizontal rail, with
integral Z rail (C3)



Page 120

Custom lengths available upon request.

When using 6U PCBs or box-type plug-in units. 
Facility for the attachment of Z rails, insulating 
strips or conductive strips.
● 84 tapped holes M2.5
● M4 thread on end face
● Straight-through core hole
● Horizontal rail 192 HP for cutting to the 

required length
Material:
Extruded aluminium section
Surface finish:
Clear-chromated or anodised 

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300. 

Usable width (HP) Packs of Model No. RP 
40 1 3684.963
42 1 3684.580
63 1 3684.581
84 1 3684.582
84 1 3685.2701)

858.5 mm 1 3684.579
192 1 3688.0032)

1) Including 2 assembly screws
2) Anodised

When using 6U PCBs or box-type plug-in units. 
Integral Z rail for mounting connectors to 
IEC 60 603-2.
● 84 tapped holes M2.5
● M4 thread on end face
● Straight-through core hole 
Material:
Extruded aluminium section
Surface finish:
Clear-chromated 

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300. 

1

2.1

11.3

9.6

4

43
.3

5 3.
5

15

8

48
.2

6.
3

Usable width (HP) Packs of Model No. RP 
42 1 3687.600
63 1 3687.601
84 1 3687.602

858.5 mm 1 3687.603

Custom lengths available upon request.

3.
2

7.
25

6.75

15
.3 8

10.5

21
.3

10
.8

5

Subracks,
Individual components

Horizontal rails

Rear horizontal rail, 
centre (D1)

Rear horizontal rail, centre,
with integral Z rail (D2)



Page 121

When subdividing 6U into 2 x 3U, the adaptor 
rail accommodates the guide rails when fastened 
to the centre horizontal rail.
● HP pitch pattern of holes for the precise 

installation of guide rails
● M4 and M2.5 thread on the end face
● Straight-through core hole
● Horizontal rail 192 HP without machining on 

the end faces. Suitable for cutting to length
Material:
Extruded aluminium section
Surface finish:
Clear-chromated or anodised 

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300. 

Usable width (HP) Packs of Model No. RP 
12 1 3684.587
16 1 3684.588
20 1 3684.589
40 1 3684.964
42 1 3684.590
63 1 3686.005
84 1 3684.591
84 1 3685.2721)

858.5 mm 1 3684.584
192 1 3688.0042)

1) Including 2 assembly screws
2) Anodised

With 84 x M2.5 threaded holes.
Material:
Extruded aluminium section
Surface finish:
Clear-chromated 

Also required:
Assembly screws M2.5 x 6,
packs of 100, Model No. RP 3654.340. 

Usable width (HP) Packs of Model No. RP 
4 1 3684.597
8 1 3684.598

20 1 3684.599
40 1 3684.965
42 1 3684.600
63 1 3684.601
84 1 3684.602
84 2 3685.271

Custom lengths available upon request.

Custom lengths available upon request.

2.
15

15
.2

12
.36

14.9

3.
2

13

16
.8

6.15

21
.3

8.
25

21
.5

1

3

Subracks,
individual components

Horizontal rails

Rear horizontal rail, 
centre (E)

Z rail for connector
IEC 60 603-2 (F)



Page 117

To accommodate guide rails and for the attach-
ment of front panels.
● Front projection 2.5 mm corresponding to 

IEC 60 297-3 
● HP pitch pattern of holes for the precise 

installation of guide rails
● M4 thread on end face
● Straight-through core hole
● Horizontal rail 192 HP without machining on 

the end faces. Suitable for cutting to length
Material:
Extruded aluminium section
Surface finish:
Clear-chromated or anodised 

Also required:
Assembly screws M4 x 12
packs of 100, Model No. RP 3654.300. 

Accessories:
Threaded inserts (packs of 1). 

15.25

1.2

2.3

27

3.
4

5.
2

6.
6

10

24.5

3.
15

6

2.5

4.5

Usable width (HP) Packs of Model No. RP
4 (left) 1 3684.592

4 (right) 1 3684.955
8 (left) 1 3684.593

8 (right) 1 3684.956
12 1 3684.594
16 1 3684.595
20 1 3684.596
21 1 3685.985
40 1 3684.960
42 1 3684.560
63 1 3684.561
84 1 3684.562
84 2 3685.2671)

192 1 3688.0002)

1) Including 4 assembly screws
2) Anodised

To accommodate guide rails and for the attach-
ment of front panels. The double screw-fastening 
ensures a high level of stability even under 
extreme loads. 
● Load test to DIN EN/IEC 61 587-1, 

requirement level SL1 
● Shock and vibration tests undertaken as 

per IEC 61 373 (DIN EN 50 155), Category 1, 
Class B 

● Front projection 2.5 mm corresponding to 
IEC 60 297-3-101 

● HP pitch pattern of holes for the precise 
installation of guide rails 

● M4 thread on end face 
● Straight-through core hole 
Material:
Extruded aluminium section 
Surface finish:
Clear-chromated

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300. 

Accessories:
Threaded inserts, Model No. RP 3684.610. 

Usable width (HP) Packs of Model No. RP 
84 1 9908.721

Custom lengths available upon request.

Custom lengths available upon request.

36

2.3

4

12.75 20

6.
6

6

10

for type IV, IVs and VII injector/extractor handle 
To accommodate guide rails and for the attach-
ment of front panels. 
● Front projection and pitch pattern of holes 

based on IEEE 1101.10 and IEC 60 297-3-101, 
for the use of injector/extractor handles type IV 
and VII 

● HP pitch pattern of holes for the precise 
installation of guide rails

● M4 thread on end face
● Straight-through core hole
● Horizontal rail 192 HP without machining on 

the end faces. Suitable for cutting to length
Material:
Extruded aluminium section
Surface finish:
Clear-chromated or anodised 

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300. 

Accessories:
Threaded inserts (packs of 1). 

2.3

22.75

1.2

10
.5

106.
6

5.
2

3.
4

34.5

Usable width (HP) Packs of Model No. RP 
40 1 3684.961
42 1 3684.565
63 1 3684.566
84 1 3684.567
84 2 3685.2691)

192 1 3688.0012)

1) Including 4 assembly screws
2) Anodised

Custom lengths available upon request.

To accommodate guide rails and for the attach-
ment of front panels.
● Front projection and pitch pattern of holes 

based on IEEE 1101.10 and IEC 60 297-3-101, 
for the use of injector/extractor handles type IV 
and VII

● HP pitch pattern of holes for the precise 
installation of guide rails

● M4 thread on end face
● Straight-through core hole
Material:
Extruded aluminium section
Surface finish:
Clear-chromated 

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300. 

Usable width (HP) Packs of Model No. RP 
84 1 3687.704

Custom lengths available upon request.

To accommodate guide rails and for the attach-
ment of front panels.
● Front projection and pitch pattern of holes 

based on IEEE 1101.10 and IEC 60 297-3-101, 
for the use of injector/extractor handles type IV 
and VII

● HP pitch pattern of holes for the precise 
installation of guide rails

● M4 thread on end face
● Straight-through core hole
Material:
Extruded aluminium section
Surface finish:
Clear-chromated 

Also required:
Assembly screws M4 x 12,
packs of 100, Model No. RP 3654.300. 

Usable width (HP) Packs of Model No. RP 
84 1 3687.724

Custom lengths available upon request.

23.15
9.35

6.00

20.00

12.75

10.00

19.95
9.35

6.00

20.00

12.75

10.00

Subracks,
individual components

Horizontal rails
Front horizontal rail,
with 10 mm extension (B)

Double front horizontal rail,
with 10 mm extension (B1)
- Version 1

Double front horizontal rail,
with 10 mm extension (B1)
- Version 2


